WORKSHEET 5 - GRAPHING 1
Place your graphs in your notebook!

Solve. Write the answer interval notation.

1. x*+3x>0
2. x°—6x<7
3. X +4x* +4x>0

Graph 1.5 periods of each. Label all x-axis marks.
4, y=2sinx+3
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7. y =3sin3x SINE AND COSINE.

8. y=2cos(2x+§j+1

DON'T WORRY, IT'S

9. y:—3cos(3x+zj+1
2 JUST A PHASE.

10. y=cos4x PRO TIP: Check your answers online at
http://calculusharter.weebly.com/1st-
9-weeks.html

1. y=cos(7zx)

—(x+1)3+1;x<0
12.  Recall Graph: f(x)= (x—1)2—2; 0<x<3

x—3; x=3
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ANSWERS
1. (—o0,—3)U(0,%)

2. [-1,7]
3. (0,»)
4. y: 2sidx +3 5. V= 5u (x—“'/q.) -+ L
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8. y=2ce5 2 (xsu) + |

9. Y= —Zeos Z(x+ %)+
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